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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of
questions contained in the Question Paper are the same as those printed on the top
of the first page. Also check to see.that the questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 54/HIS/2, Set [A] on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you
can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English,

the responsibility for any errors/mistakes in understanding the questions will

be yours only.
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BIOLOGY (Theory)
(314)
Time : 3 Hours | [ Maximum Marks : 80
a3 T | [ qUTiek : 80
Note : (i) This Question Paper consists of 30 questions.

(i) AU the questions are compulsory.
(iii) Marks for each question has been indicated against it.

(iv) Each question from Question Nos. 1 to 8 has four alternatives—(A), (B), (C)
and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting
multiple-choice questions.

feer: () 3@ IH-TTH 30 U &)
(i) @t go erfaErd §)
(il) TR U ok HAF IHb T 9 T T
(iv) U @ 1 ¥ 8 d% & Id% UL H WX fadea—(A), (B), (C) 3R (D) f&d ma 2, o=

U TEl 71 9 fredt § 9.ad I g a9 0 IT-gfedh § T S % A 3w
o | ag-fosheddt st o T rfafr s = feam smom

1. Pick the odd one out : 1
(A)  UAA
(B) AUG
(C) UAG
(D) UGA
[EECINEACT| ﬂ'ﬁﬂl :
(A)  UAA
(B) AUG
(C) UAG
(D] UGA
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2. Which of the following is a true fish? 1

(A) Dogfish

(B) Jellyfish

(C) Starfish

(D) Silverfish

frefafad & @ #A- ww o el 27

(A) ST

(B) Sifcftea

(C) Terfhar

(D) Tocaxfa

3. The type of placentation seen in Bhindi is
(A) marginal
(B) parietal
(C) superficial
(D) axile 1
firdt &y sfisie=ma 1 YR ¥
(A)
(B) T

(C) wdgl (superficial)

(D) 3T&
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4. The narrow spectrum antibiotic used against few pathogenic bacteria is
(A) erythromycin
(B) tetracycline
(C) streptomycin

(D) chloramphenicol 1

T WFH (narrow spectrum) &, S FF WeHS StEed & fw ug® Al St
2, %

() RemETERE
(B) g
(C) TR
(D) FARFHFRIA

5. Sea anemone, a Cnidarian, gets attached to'the shell of hermit crab. This type
of association is known as

(A) commensalism
(B) parasitism
(C) mutualism

(D) neutralism 1

uh ArgefEn Ul wgdt THEE gfife Fene % e W U ST B1 3@ ey I hed €
(A)  HEMIfSET

(B)  UXSfiferar
(C) TRI=IRAT
(D) 3ardHdl
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6. Which one of the following is an example of a unicellular fungus? 1
(A) Penicillium
(B) Yeast
(C) Mushroom

(D) Lichens

fafafga 4 @ =9-91 us TERIRTe w1 3SR 27

(A) uffateem
B) e

(C) weTEH

(D) @R

7. Vascular bundles that are open, conjoint with xylem in endarch condition is a
characteristic of

(A) dicot root
(B) monocot root
(C) monocot stem

(D) dicot stem 1

@W@,Gﬁgﬁ%ﬁ%,@ﬂ?ﬁ@ﬁ%ﬁmﬁﬂﬁmm(endarch)ﬁ\?ﬂﬁﬁ
g 7, feroehr fafsrean @ &7

INERECIELEIRS
(B) ksl ST
(C) WehslS=t o=t

I BRECISEEIREL
www.FirstRanker.com

314 /HIS/106A 6



8

314 /HIS/106A v 4 [PTO

:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

. A cross between the F; progeny and a homozygous recessive parent is known as

(A) testcross

(B) reciprocal cross

(C) monohybrid cross

(D) dihybrid cross

F, Hdfd a1 Uk TS TITEt ek & e o %id @l Fed ©

(A)  Thend wig

(B) gcu i
(C) TUHHE HE
(D) fgue =g

. Why does insectivorous plant eat insects when' it is capable of carrying out

photosynthesis?

FITEE Tl YHTeT-Gy0 TR o A Hem g TR oft a8 el o1 weqor st g, w7

. With the help of equations, briefly, explain double fertilization.

g it gEEar @ f5-Fuem ufmar i 98w § swen i)

. Define the following terms :

() Humus

(b)  Soil erosion
(c) Terracing

(d) Deforestation

ffafigd wrsal <1 aftamn fafem -
(@) wHE

(b) E A

(c) Hidmr Gt

(d] ST
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12. Chromosomal change in structure is termed as chromosomal aberration. List
four types of chromosomal aberrations. 2

e R afEdd w R fMed wed ¥ WR YRR % Ot fawedi ==t
e |

13. Name the respiratory organs in cockroach and earthworm. 2

fierag 3R ohgy o Y@@ S o AW JdEy|

14. Distinguish between pioneer community and climax community. 2

ST TSR IR W e H Ia Sdsy|

15. (@) What are transgenic plants?

(b) Name a soil bacterium which is commonly used to-produce transgenic
plants. 2

(@) RS 99w g 87

(b) TF VY FAI-SIGT] 1 8 FaRy, S arsih @ w3 w1 § AWaR ¥ 9w
foa ST 21

16. Define the following terms with appropriate examples : 2
(a) Multiple alleles

(b) Codominance

IR 3l Afed frfafaa weal i afmn fafaw
(@) 7 Vet
(b)  TEgWIeA

17. With the help of diagrams and appropriate examples, distinguish between
monadelphous and diadelphous stamens. 2

I 3R I IS h Tl ¥, UheH! R fgEl gohed § 3T FarRu|

18. List any four functions of roughage in our daily diet. 2

THN ST SR § S&ie & e o i adrea]
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19. (@) Name a gymnosperm which fixes nitrogen.

(b) Name the special protein present in legume nodules. 2

(@) UF WO Frad &1 9w S, SoArgeeH o R w2l
(b) et B U W areft ufoeerett § faemm fafire W # am s

20. (@) Why is the number of trophic levels restricted to four or five in a food
chain?

(b) List any two human activities that has led to increase in atmospheric
CO,. 2
(a) TF WE-FEA T TO0-TR 1 GG =GR AT Ui q% @ 6 i e 27
(b) T8 TR & wHa fRarRemal B gE sRE, SR wR0 agEed ® CO, W OHET
e i 2|

21. What is meristematic tissue? Name its types and its apptopriate locations. 4

frsiaes Sash 1 BT 27 3W A% & YERI ok AW Sd5E AT $HS U Tl kAW
i Ay

22. Explain briefly the packaging of the DNA molecule in a eukaryotic chromosome. 4
Yehseh! O H§ DNA 19 & Gawq il G §. e Hifu |

23. (a) Distinguish between essential.amino acids and non-essential amino acids
giving appropriate example.in each case.

(b) Name any two fat-soluble vitamins and state their functions in the human

body. 4
(@) EE R R-AEE A oAl § A AT TE H1 IUIE I8 i T
it |
(b) T St FEn-faom foerfimt & 9@ sdwET 9o oFg TR A 3% AT A=t
it |

24. (@) What is the main objective of vaccination?

(b) Name the three main types of vaccines available giving an appropriate
example in each case. 4

(@) 2RISR T U@ 32w AR
(b) U Akl F o TgE THERI % AH FARY| TAF TER o ok H IUYh IATEW

TS
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25. With the example of thyroxine, briefly explain the feedback mechanism in
hormone action. 4

TR 1 3TET ad §U, THM Rl § G fopanfafer o @& § =amen Hifo|

26. (a) List two examples each of tropic movements and turgor movements.

(b) Name the hormones concerned with the following functions :

(i) Initiation of flowering in plants

(i) Induces ripening in fruits

(iii) Promotes cell elongation

(iv) Prevents aging in plant parts 4
(@) Fadl it o whifa Tfaat % |r-ar e i)

(b) TrAfaRad @t @ wefa gE@E % 9™ FdE
(i) T H g H TR
(ii) el o Yeh Bl YT AT
(iii) HIITERT o T B T ST
(iv) TIET TN o SO 1 AT

27. (@) With the help of diagrammatic representation, explain non-cyclic

photophosphorylation.
(bp)  What is the role of (i) RuBisCO and (ij) PEPCO, and where are they
present?
(c) State the law of limiting factor. 6
(@) FRET FHEIU ZH, I TR -BEhIRTA RO hi ST T |

(b) Frefafaa & fierr F=m Edt @ don 9 el 9 S 27
(i) RuBisCO
(i) PEPCO

(c) AT ek (IH ST S0 ehToTa]
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28. Answer the following : 6
(a) Name the chemical the cell wall is made of which is unique to bacteria.
(b) Give an example of Basidiomycetes.

(c) Name the association in which the fungi is associated with the roots of
plants.

(d) Name the gametophyte of the fern plant.
(e) State two main characteristics of phylum Arthropoda.

(f)  State two differences between striated and unstriated muscles.

frafafaa % s difvw .

(@) 39 WA H AW Faee, fSoa Fiia st sfem) 8 & aeft S 2
(b) SfafeAmEHAS 1 T e G|

(c) 3@ G HT AW ST, SFH Fash el I Sl % @y GER[ g 2|
(d) i % NI F FHRGHE FHN AW FAET|

(e) TEem (W) snyider i & yg@ fafirand saee)

() Mea 3w Rfad I0EE & @ IR FqE

29. (@) Draw a neat and labelled-diagram of the female reproductive system in
humans.

(b) Where does the following phenomenon take place in female?
(i) Fertilization

(i) Implantation
(c) State any two effects of uncontrolled population growth in our nation. 6
(@) THAT % HIET SHA-TF H Tk o3 R AHifhd IR@ AR
(b) Tr=fafaa afteend =t & wel W =fea i 87

(i)

(i) AT

(L AU B | E DI E IS B2 C | B | T i B 1 el
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30. (@) Where does the heartbeat originate in the heart?

(b) Draw a neat diagram of the internal structure of the heart and label the
nodes involved in the heartbeat. With the help of arrows, trace the route
of the conduction of impulse for a heartbeat.

(c) Name any two heart-related disorders. 6
(@) %@ W TEA-TIGd 1 39T Fal el 27

(b) T HI ARE WEAT F T WS IR@ TR qAT ged-Wed ° i uferemre
FT AR FHISTT| R I TEEAT B TH gEI-Ted ok [0 O ok GEe ok HE
I TN

(c) TF O Gatga &t fosri o AW saR|

* Kk ok
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